1.

ol =

Wl

a2 F2t A

flo

2~
T

ot
HT

2R 434S FERRE

oL AYU7H?

5 4) (45 28) (5 4) (25 24)
®(9’7—)63’63 @535~ 50 30
(22 oG-

15" 25 75 75 20" 15 60° 60
o (F B (o

0’ 11 09’ 99



2~
445 Fob4E el o, BR7} 7P 2 S oln AQUAR

2.

@ 0.45 B 0.63

3 0.02

® 0.8

D 0.5



shol uh=]) 4

ol o

3.



H A2
T =
2 AL FAAdY7E?
2 2x5 10
@ 1,1,0.1 @ 1,2,02 @ 5,1,0.5
® 5,5,05

@ 5,2,0.1



7 7} E19i&Uch oW B2 ula A 25 AL o] 77
15 15 11 15 .
O = @ = ® = @ — ®






ol

A

R 47} of
63 21 7]oF
o4 257}

Nfo

A U7t

Al



8.

14
49

12
492

@



7 2 9f 27]7} o

=
=

SollM ZEA 5

A7 EE 2

5
9

9.



e}

)
ok 2ate] Fol 54 9l 42

a ™



) 91 132
o]:T'I:_l_/\_E_ ET,T:_L— A ., =
ress BrogEy (o 12
13) (7 11)

15 @ 127 13
11 13 11)
) o (24

) 7t =

@ (

3 13
5 15

o]
PIG=]

)

Y,

=
T



12. B9 Q1 AES Fof|A 7[Ry B 9 7Q1A] F5HA] 2

@D 45 7§ @ 30 7H 3 24 7§ @ 21 7§ ® 15 7



— | O

— [0

— | <

— | N

— | e\



HAL2.

S

R



15.

3—1L5 ol B A2 §—1
= o Aeloll 3709 248 el -t

o 37)e] #48

7 10 13
9’ 12’ 15
5 64 72
85’ 85’ 85

A2,

®

55 65
85" 85’
5 61
{5’ 85’

1
85
71
85

15

17

= 4 =
=45

o
_o|£
&
Kl
t

57 6369
85° 85 85



